
Recommend!! Get the Full DBS-C01 dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/DBS-C01-exam-dumps.html (198 New Questions)

 Amazon-Web-Services
Exam Questions DBS-C01

AWS Certified Database - Specialty

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



Recommend!! Get the Full DBS-C01 dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/DBS-C01-exam-dumps.html (198 New Questions)

NEW QUESTION 1
A large company is using an Amazon RDS for Oracle Multi-AZ DB instance with a Java application. As a part of its disaster recovery annual testing, the company
would like to simulate an Availability Zone failure and record how the application reacts during the DB instance failover activity. The company does not want to
make any code changes for this activity.
What should the company do to achieve this in the shortest amount of time?

A. Use a blue-green deployment with a complete application-level failover test
B. Use the RDS console to reboot the DB instance by choosing the option to reboot with failover
C. Use RDS fault injection queries to simulate the primary node failure
D. Add a rule to the NACL to deny all traffic on the subnets associated with a single Availability Zone

Answer: C

NEW QUESTION 2
A company has deployed an e-commerce web application in a new AWS account. An Amazon RDS for MySQL Multi-AZ DB instance is part of this deployment
with a
database-1.xxxxxxxxxxxx.us-east-1.rds.amazonaws.com endpoint listening on port 3306. The company’s Database Specialist is able to log in to MySQL and run
queries from the bastion host using these details.
When users try to utilize the application hosted in the AWS account, they are presented with a generic error message. The application servers are logging a “could
not connect to server: Connection times out” error message to Amazon CloudWatch Logs.
What is the cause of this error?

A. The user name and password the application is using are incorrect.
B. The security group assigned to the application servers does not have the necessary rules to allow inbound connections from the DB instance.
C. The security group assigned to the DB instance does not have the necessary rules to allow inbound connections from the application servers.
D. The user name and password are correct, but the user is not authorized to use the DB instance.

Answer: C

NEW QUESTION 3
A company is building a new web platform where user requests trigger an AWS Lambda function that performs an insert into an Amazon Aurora MySQL DB
cluster. Initial tests with less than 10 users on the new platform yielded successful execution and fast response times. However, upon more extensive tests with the
actual target of 3,000 concurrent users, Lambda functions are unable to connect to the DB cluster and receive too many connections errors.
Which of the following will resolve this issue?

A. Edit the my.cnf file for the DB cluster to increase max_connections
B. Increase the instance size of the DB cluster
C. Change the DB cluster to Multi-AZ
D. Increase the number of Aurora Replicas

Answer: B

NEW QUESTION 4
A Database Specialist is migrating a 2 TB Amazon RDS for Oracle DB instance to an RDS for PostgreSQL DB instance using AWS DMS. The source RDS Oracle
DB instance is in a VPC in the us-east-1 Region. The target RDS for PostgreSQL DB instance is in a VPC in the use-west-2 Region.
Where should the AWS DMS replication instance be placed for the MOST optimal performance?

A. In the same Region and VPC of the source DB instance
B. In the same Region and VPC as the target DB instance
C. In the same VPC and Availability Zone as the target DB instance
D. In the same VPC and Availability Zone as the source DB instance

Answer: D

NEW QUESTION 5
A company has a production Amazon Aurora Db cluster that serves both online transaction processing (OLTP) transactions and compute-intensive reports. The
reports run for 10% of the total cluster uptime while the OLTP transactions run all the time. The company has benchmarked its workload and determined that a six-
node Aurora DB cluster is appropriate for the peak workload.
The company is now looking at cutting costs for this DB cluster, but needs to have a sufficient number of nodes in the cluster to support the workload at different
times. The workload has not changed since the previous benchmarking exercise.
How can a Database Specialist address these requirements with minimal user involvement?

A. Split up the DB cluster into two different clusters: one for OLTP and the other for reportin
B. Monitor and set up replication between the two clusters to keep data consistent.
C. Review all evaluate the peak combined workloa
D. Ensure that utilization of the DB cluster node is at an acceptable leve
E. Adjust the number of instances, if necessary.
F. Use the stop cluster functionality to stop all the nodes of the DB cluster during times of minimal workloa
G. The cluster can be restarted again depending on the workload at the time.
H. Set up automatic scaling on the DB cluste
I. This will allow the number of reader nodes to adjust automatically to the reporting workload, when needed.

Answer: D

NEW QUESTION 6
A Database Specialist is migrating an on-premises Microsoft SQL Server application database to Amazon RDS for PostgreSQL using AWS DMS. The application
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requires minimal downtime when the RDS DB instance goes live.
What change should the Database Specialist make to enable the migration?

A. Configure the on-premises application database to act as a source for an AWS DMS full load with ongoing change data capture (CDC)
B. Configure the AWS DMS replication instance to allow both full load and ongoing change data capture(CDC)
C. Configure the AWS DMS task to generate full logs to allow for ongoing change data capture (CDC)
D. Configure the AWS DMS connections to allow two-way communication to allow for ongoing change datacapture (CDC)

Answer: A

NEW QUESTION 7
A gaming company is designing a mobile gaming app that will be accessed by many users across the globe. The company wants to have replication and full
support for multi-master writes. The company also wants to ensure low latency and consistent performance for app users.
Which solution meets these requirements?

A. Use Amazon DynamoDB global tables for storage and enable DynamoDB automatic scaling
B. Use Amazon Aurora for storage and enable cross-Region Aurora Replicas
C. Use Amazon Aurora for storage and cache the user content with Amazon ElastiCache
D. Use Amazon Neptune for storage

Answer: A

NEW QUESTION 8
A company maintains several databases using Amazon RDS for MySQL and PostgreSQL. Each RDS database generates log files with retention periods set to
their default values. The company has now mandated that database logs be maintained for up to 90 days in a centralized repository to facilitate real-time and after-
the-fact analyses.
What should a Database Specialist do to meet these requirements with minimal effort?

A. Create an AWS Lambda function to pull logs from the RDS databases and consolidate the log files in an Amazon S3 bucke
B. Set a lifecycle policy to expire the objects after 90 days.
C. Modify the RDS databases to publish log to Amazon CloudWatch Log
D. Change the log retention policy for each log group to expire the events after 90 days.
E. Write a stored procedure in each RDS database to download the logs and consolidate the log files in an Amazon S3 bucke
F. Set a lifecycle policy to expire the objects after 90 days.
G. Create an AWS Lambda function to download the logs from the RDS databases and publish the logs to Amazon CloudWatch Log
H. Change the log retention policy for the log group to expire the events after 90 days.

Answer: A

NEW QUESTION 9
A Database Specialist is creating a new Amazon Neptune DB cluster, and is attempting to load fata from Amazon S3 into the Neptune DB cluster using the
Neptune bulk loader API. The Database Specialist receives the following error:
“Unable to connect to s3 endpoint. Provided source = s3://mybucket/graphdata/ and region = us-east-1. Please verify your S3 configuration.”
Which combination of actions should the Database Specialist take to troubleshoot the problem? (Choose two.)

A. Check that Amazon S3 has an IAM role granting read access to Neptune
B. Check that an Amazon S3 VPC endpoint exists
C. Check that a Neptune VPC endpoint exists
D. Check that Amazon EC2 has an IAM role granting read access to Amazon S3
E. Check that Neptune has an IAM role granting read access to Amazon S3

Answer: BD

NEW QUESTION 10
A company is looking to migrate a 1 TB Oracle database from on-premises to an Amazon Aurora PostgreSQL DB cluster. The company’s Database Specialist
discovered that the Oracle database is storing 100 GB of large binary objects (LOBs) across multiple tables. The Oracle database has a maximum LOB size of 500
MB with an average LOB size of 350 MB. The Database Specialist has chosen AWS DMS to migrate the data with the largest replication instances.
How should the Database Specialist optimize the database migration using AWS DMS?

A. Create a single task using full LOB mode with a LOB chunk size of 500 MB to migrate the data and LOBstogether
B. Create two tasks: task1 with LOB tables using full LOB mode with a LOB chunk size of 500 MB and task2without LOBs
C. Create two tasks: task1 with LOB tables using limited LOB mode with a maximum LOB size of 500 MB andtask 2 without LOBs
D. Create a single task using limited LOB mode with a maximum LOB size of 500 MB to migrate data andLOBs together

Answer: C

NEW QUESTION 10
After restoring an Amazon RDS snapshot from 3 days ago, a company’s Development team cannot connect tothe restored RDS DB instance. What is the likely
cause of this problem?

A. The restored DB instance does not have Enhanced Monitoring enabled
B. The production DB instance is using a custom parameter group
C. The restored DB instance is using the default security group
D. The production DB instance is using a custom option group

Answer: B
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NEW QUESTION 12
A large financial services company requires that all data be encrypted in transit. A Developer is attempting to connect to an Amazon RDS DB instance using the
company VPC for the first time with credentials provided by a Database Specialist. Other members of the Development team can connect, but this user is
consistently receiving an error indicating a communications link failure. The Developer asked the Database Specialist to reset the password a number of times, but
the error persists.
Which step should be taken to troubleshoot this issue?

A. Ensure that the database option group for the RDS DB instance allows ingress from theDevelopermachine’s IP address
B. Ensure that the RDS DB instance’s subnet group includes a public subnet to allow the Developer toconnect
C. Ensure that the RDS DB instance has not reached its maximum connections limit
D. Ensure that the connection is using SSL and is addressing the port where the RDS DB instance is listeningfor encrypted connections

Answer: B

NEW QUESTION 15
A Database Specialist is setting up a new Amazon Aurora DB cluster with one primary instance and three Aurora Replicas for a highly intensive, business-critical
application. The Aurora DB cluster has one mediumsized primary instance, one large-sized replica, and two medium sized replicas. The Database Specialist did
not assign a promotion tier to the replicas.
In the event of a primary failure, what will occur?

A. Aurora will promote an Aurora Replica that is of the same size as the primary instance
B. Aurora will promote an arbitrary Aurora Replica
C. Aurora will promote the largest-sized Aurora Replica
D. Aurora will not promote an Aurora Replica

Answer: A

NEW QUESTION 18
A marketing company is using Amazon DocumentDB and requires that database audit logs be enabled. A Database Specialist needs to configure monitoring so
that all data definition language (DDL) statements performed are visible to the Administrator. The Database Specialist has set the audit_logs parameter to enabled
in the cluster parameter group.
What should the Database Specialist do to automatically collect the database logs for the Administrator?

A. Enable DocumentDB to export the logs to Amazon CloudWatch Logs
B. Enable DocumentDB to export the logs to AWS CloudTrail
C. Enable DocumentDB Events to export the logs to Amazon CloudWatch Logs
D. Configure an AWS Lambda function to download the logs using the download-db-log-file-portion operationand store the logs in Amazon S3

Answer: A

NEW QUESTION 20
A company is using 5 TB Amazon RDS DB instances and needs to maintain 5 years of monthly database backups for compliance purposes. A Database
Administrator must provide Auditors with data within 24 hours.
Which solution will meet these requirements and is the MOST operationally efficient?

A. Create an AWS Lambda function to run on the first day of every month to take a manual RDS snapshot.Move the snapshot to the company’s Amazon S3
bucket.
B. Create an AWS Lambda function to run on the first day of every month to take a manual RDS snapshot.
C. Create an RDS snapshot schedule from the AWS Management Console to take a snapshot every 30 days.
D. Create an AWS Lambda function to run on the first day of every month to create an automated RDSsnapshot.

Answer: B

NEW QUESTION 23
A company is looking to move an on-premises IBM Db2 database running AIX on an IBM POWER7 server. Due to escalating support and maintenance costs, the
company is exploring the option of moving the workload to an Amazon Aurora PostgreSQL DB cluster.
What is the quickest way for the company to gather data on the migration compatibility?

A. Perform a logical dump from the Db2 database and restore it to an Aurora DB cluste
B. Identify the gaps andcompatibility of the objects migrated by comparing row counts from source and target tables.
C. Run AWS DMS from the Db2 database to an Aurora DB cluste
D. Identify the gaps and compatibility of theobjects migrated by comparing the row counts from source and target tables.
E. Run native PostgreSQL logical replication from the Db2 database to an Aurora DB cluster to evaluate themigration compatibility.
F. Run the AWS Schema Conversion Tool (AWS SCT) from the Db2 database to an Aurora DB cluster.Create a migration assessment report to evaluate the
migration compatibility.

Answer: D

NEW QUESTION 26
A company wants to migrate its existing on-premises Oracle database to Amazon Aurora PostgreSQL. The migration must be completed with minimal downtime
using AWS DMS. A Database Specialist must validate that the data was migrated accurately from the source to the target before the cutover. The migration must
have minimal impact on the performance of the source database.
Which approach will MOST effectively meet these requirements?

A. Use the AWS Schema Conversion Tool (AWS SCT) to convert source Oracle database schemas to the target Aurora DB cluste
B. Verify the datatype of the columns.
C. Use the table metrics of the AWS DMS task created for migrating the data to verify the statistics for the tables being migrated and to verify that the data
definition language (DDL) statements are completed.
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D. Enable the AWS Schema Conversion Tool (AWS SCT) premigration validation and review the premigrationchecklist to make sure there are no issues with the
conversion.
E. Enable AWS DMS data validation on the task so the AWS DMS task compares the source and targetrecords, and reports any mismatches.

Answer: D

NEW QUESTION 31
A company is running a two-tier ecommerce application in one AWS account. The web server is deployed using an Amazon RDS for MySQL Multi-AZ DB
instance. A Developer mistakenly deleted the database in the production environment. The database has been restored, but this resulted in hours of downtime and
lost revenue.
Which combination of changes in existing IAM policies should a Database Specialist make to prevent an error like this from happening in the future? (Choose
three.)

A. Grant least privilege to groups, users, and roles
B. Allow all users to restore a database from a backup that will reduce the overall downtime to restore thedatabase
C. Enable multi-factor authentication for sensitive operations to access sensitive resources and APIoperations
D. Use policy conditions to restrict access to selective IP addresses
E. Use AccessList Controls policy type to restrict users for database instance deletion
F. Enable AWS CloudTrail logging and Enhanced Monitoring

Answer: ACD

NEW QUESTION 35
A company has an Amazon RDS Multi-AZ DB instances that is 200 GB in size with an RPO of 6 hours. To meet the company’s disaster recovery policies, the
database backup needs to be copied into another Region. The company requires the solution to be cost-effective and operationally efficient.
What should a Database Specialist do to copy the database backup into a different Region?

A. Use Amazon RDS automated snapshots and use AWS Lambda to copy the snapshot into another Region
B. Use Amazon RDS automated snapshots every 6 hours and use Amazon S3 cross-Region replication tocopy the snapshot into another Region
C. Create an AWS Lambda function to take an Amazon RDS snapshot every 6 hours and use a secondLambda function to copy the snapshot into another Region
D. Create a cross-Region read replica for Amazon RDS in another Region and take an automated snapshot ofthe read replica

Answer: D

NEW QUESTION 39
A company is running a finance application on an Amazon RDS for MySQL DB instance. The application is governed by multiple financial regulatory agencies. The
RDS DB instance is set up with security groups to allow access to certain Amazon EC2 servers only. AWS KMS is used for encryption at rest.
Which step will provide additional security?

A. Set up NACLs that allow the entire EC2 subnet to access the DB instance
B. Disable the master user account
C. Set up a security group that blocks SSH to the DB instance
D. Set up RDS to use SSL for data in transit

Answer: D

NEW QUESTION 43
A financial company has allocated an Amazon RDS MariaDB DB instance with large storage capacity to accommodate migration efforts. Post-migration, the
company purged unwanted data from the instance. The company now want to downsize storage to save money. The solution must have the least impact on
production and near-zero downtime.
Which solution would meet these requirements?

A. Create a snapshot of the old databases and restore the snapshot with the required storage
B. Create a new RDS DB instance with the required storage and move the databases from the old instancesto the new instance using AWS DMS
C. Create a new database using native backup and restore
D. Create a new read replica and make it the primary by terminating the existing primary

Answer: A

NEW QUESTION 45
A company is running its line of business application on AWS, which uses Amazon RDS for MySQL at the persistent data store. The company wants to minimize
downtime when it migrates the database to Amazon Aurora.
Which migration method should a Database Specialist use?

A. Take a snapshot of the RDS for MySQL DB instance and create a new Aurora DB cluster with the option to migrate snapshots.
B. Make a backup of the RDS for MySQL DB instance using the mysqldump utility, create a new Aurora DB cluster, and restore the backup.
C. Create an Aurora Replica from the RDS for MySQL DB instance and promote the Aurora DB cluster.
D. Create a clone of the RDS for MySQL DB instance and promote the Aurora DB cluster.

Answer: A

NEW QUESTION 48
A company is running Amazon RDS for MySQL for its workloads. There is downtime when AWS operating system patches are applied during the Amazon RDS-
specified maintenance window.
What is the MOST cost-effective action that should be taken to avoid downtime?

A. Migrate the workloads from Amazon RDS for MySQL to Amazon DynamoDB
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B. Enable cross-Region read replicas and direct read traffic to then when Amazon RDS is down
C. Enable a read replicas and direct read traffic to it when Amazon RDS is down
D. Enable an Amazon RDS for MySQL Multi-AZ configuration

Answer: C

NEW QUESTION 53
An Amazon RDS EBS-optimized instance with Provisioned IOPS (PIOPS) storage is using less than half of its allocated IOPS over the course of several hours
under constant load. The RDS instance exhibits multi-second read and write latency, and uses all of its maximum bandwidth for read throughput, yet the instance
uses less than half of its CPU and RAM resources.
What should a Database Specialist do in this situation to increase performance and return latency to sub-second levels?

A. Increase the size of the DB instance storage
B. Change the underlying EBS storage type to General Purpose SSD (gp2)
C. Disable EBS optimization on the DB instance
D. Change the DB instance to an instance class with a higher maximum bandwidth

Answer: B

NEW QUESTION 57
A company is load testing its three-tier production web application deployed with an AWS CloudFormation template on AWS. The Application team is making
changes to deploy additional Amazon EC2 and AWS Lambda resources to expand the load testing capacity. A Database Specialist wants to ensure that the
changes made by the Application team will not change the Amazon RDS database resources already deployed.
Which combination of steps would allow the Database Specialist to accomplish this? (Choose two.)

A. Review the stack drift before modifying the template
B. Create and review a change set before applying it
C. Export the database resources as stack outputs
D. Define the database resources in a nested stack
E. Set a stack policy for the database resources

Answer: AD

NEW QUESTION 59
A company is running an Amazon RDS for PostgeSQL DB instance and wants to migrate it to an Amazon Aurora PostgreSQL DB cluster. The current database is
1 TB in size. The migration needs to have minimal downtime.
What is the FASTEST way to accomplish this?

A. Create an Aurora PostgreSQL DB cluste
B. Set up replication from the source RDS for PostgreSQL DB instance using AWS DMS to the target DB cluster.
C. Use the pg_dump and pg_restore utilities to extract and restore the RDS for PostgreSQL DB instance to the Aurora PostgreSQL DB cluster.
D. Create a database snapshot of the RDS for PostgreSQL DB instance and use this snapshot to create the Aurora PostgreSQL DB cluster.
E. Migrate data from the RDS for PostgreSQL DB instance to an Aurora PostgreSQL DB cluster using an Aurora Replic
F. Promote the replica during the cutover.

Answer: C

NEW QUESTION 61
A company has multiple applications serving data from a secure on-premises database. The company is migrating all applications and databases to the AWS
Cloud. The IT Risk and Compliance department requires that auditing be enabled on all secure databases to capture all log ins, log outs, failed logins, permission
changes, and database schema changes. A Database Specialist has recommended Amazon Aurora MySQL as the migration target, and leveraging the Advanced
Auditing feature in Aurora.
Which events need to be specified in the Advanced Auditing configuration to satisfy the minimum auditing requirements? (Choose three.)

A. CONNECT
B. QUERY_DCL
C. QUERY_DDL
D. QUERY_DML
E. TABLE
F. QUERY

Answer: ACE

NEW QUESTION 66
A financial services company is developing a shared data service that supports different applications from throughout the company. A Database Specialist
designed a solution to leverage Amazon ElastiCache for Redis with cluster mode enabled to enhance performance and scalability. The cluster is configured to
listen on port 6379.
Which combination of steps should the Database Specialist take to secure the cache data and protect it from unauthorized access? (Choose three.)

A. Enable in-transit and at-rest encryption on the ElastiCache cluster.
B. Ensure that Amazon CloudWatch metrics are configured in the ElastiCache cluster.
C. Ensure the security group for the ElastiCache cluster allows all inbound traffic from itself and inbound traffic on TCP port 6379 from trusted clients only.
D. Create an IAM policy to allow the application service roles to access all ElastiCache API actions.
E. Ensure the security group for the ElastiCache clients authorize inbound TCP port 6379 and port 22 traffic from the trusted ElastiCache cluster’s security group.
F. Ensure the cluster is created with the auth-token parameter and that the parameter is used in all subsequent commands.

Answer: ABE
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NEW QUESTION 69
A company runs online transaction processing (OLTP) workloads on an Amazon RDS for PostgreSQL
Multi-AZ DB instance. Tests were run on the database after work hours, which generated additional database logs. The free storage of the RDS DB instance is low
due to these additional logs.
What should the company do to address this space constraint issue?

A. Log in to the host and run the rm $PGDATA/pg_logs/* command
B. Modify the rds.log_retention_period parameter to 1440 and wait up to 24 hours for database logs to bedeleted
C. Create a ticket with AWS Support to have the logs deleted
D. Run the SELECT rds_rotate_error_log() stored procedure to rotate the logs

Answer: B

NEW QUESTION 74
A company is using Amazon with Aurora Replicas for read-only workload scaling. A Database Specialist needs to split up two read-only applications so each
application always connects to a dedicated replica. The Database Specialist wants to implement load balancing and high availability for the read-only applications.
Which solution meets these requirements?

A. Use a specific instance endpoint for each replica and add the instance endpoint to each read-onlyapplication connection string.
B. Use reader endpoints for both the read-only workload applications.
C. Use a reader endpoint for one read-only application and use an instance endpoint for the other read-onlyapplication.
D. Use custom endpoints for the two read-only applications.

Answer: B

NEW QUESTION 77
......
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